Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
9,543 x 10 = 5,075 x 1000 =
8,541 x 10 = 7,865 x 10 =
2,821 x 100 = 3,179 x 1000 =
6,391 x 100 = 5,364 x 10 =
7,061 x 100 = 6,616 x 100 =
3,037 x 100 = 4,04 x 10 =
8,99 x 10 = 8,124 x 1000 =
7,712 x 100 = 3,017 x 100 =
7,962 x 100 = 7,55 x 1000 =
7,512 x 10 = 1,587 x 1000 =
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Multipliser desimaler med 10 100 000 000

StudentName:

9,543 x 10 = 95.43

8,541 x 10 = 8541

2,821 x 100 = 282.1

6,391 x 100 = 639.1

7,061 x 100 = 706.1

3,037 x 100 = 303.7

8,99 x 10 =89.9

7,712 x 100 = 771.2

7,962 x 100 = 796.2

7,512 x 10 = 75.12

ExamDate:

5,075 x 1000 = 5075

7,865 x 10 = 78.65

3,179 x 1000 = 3179

5,364 x 10 = 53.64

6,616 x 100 = 661.6

4,04 x 10 =404

8,124 x 1000 = 8124

3,017 x 100 = 301.7

7,55 x 1000 = 7550

1,587 x 1000 = 1587
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